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1. How is Dark Matter different from Dark Energy? 

1) Dark energy attracts and holds galaxies together whereas dark matter repels and causes the 

expansion of our universe. 

2) Despite both components being invisible, dark energy is even more elusive than dark matter. 

Which of the statement(s) given above is/are correct? 

a) 1 only                              b) 2 only                              c) Both 1 and 2                     d) Neither 1 nor 2 

 

2. Consider the following statements with respect to National Disaster Management Authority (NDMA) 

1) NDMA is not a statutory body and derives its powers from the Disaster Management Act, 2005. 

2) It is the apex body for Disaster Management in India, headed by the Union Defence Minister. 

3) Setting up of National, State and District level disaster management authority is mandated by the 

Disaster Management Act, 2005. 

Which of the statement(s) given above is/are not correct? 

a) 3 only                                   b) 1 and 2 only                      c) 1 and 3 only                      d) 1, 2 and 3 

 

3. With reference to the scholars/litterateurs of ancient India, consider the following statements: 

1) Panini is associated with Pushyamitra Shunga. 

2) Amarasimha is- associated with Harshavardhana 

3) Kalidasa is associated with Chandra Gupta – II 

 Which of the statements given above is/are correct? 

 a) 3 only                      b) 1 and 2 only                         c) 1 and 3 only                  d) 1, 2 and 3 

 

4. Consider the following Bhakti Saints: 

1) DaduDayal 

2) Guru Nanak 

3) Tyagaraja 

Who among the above was/were preaching when the Lodi dynasty fell and Babur took over? 

 a) 1 and 3                                 b) 2 only                              c) 2 and 3                               d) 1 and 2 

 

5. Identify the correct statement related to Akash Prime: 

1) It uses indigenous passive RF (Radio Frequency) seeker for improved accuracy. 

2) The missile is supported by the indigenously developed radar called 'Gajendra'. 

Which of the statements given above is/are correct? 

 a) 1 only                               b) 2 only                               c) Both 1 and 2                  d) Neither 1 nor 2 

 

6. “Athlete‟s Foot” is a disease caused by 

 a) Bacteria                          b) Fungus                                 c) Protozoan                         d) Nematode 

 

7. ThePalpur-Kuno Wildlife Sanctuary (PKWLS) is located in which state? 

a) Maharashtra                                b) Gujarat                     c) Madhya Pradesh                     d) Odisha 
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8. In India, if a species of tortoise is declared protected under Schedule I of the Wildlife (Protection) 

Act, 1972, what does it imply? 

a) It enjoys the same level of protection as the tiger. 

b) It no longer exists in the wild, a few individuals are under captive protection; and now it is 

impossible to prevent its extinction. 

c) It is endemic to a particular region of India. 

d) Both (b) and (c) stated above are correct in this context. 

 

9. Consider the following statements regarding the Presidential System of the USA. 

1) In this system the President is both the head of the state and the head of the government. 

2) The President of the United States of America is the most well-known example of this kind of 

             President. 

3) The US President is indirectly elected. 

Which of the statements given above is/are correct? 

a) 1 and 3 only                  b) 2 and 3 only                 c) 1 and 2 only                           d) 1, 2 and 3 

 

10. Consider the following statements: 

1) Majoritarianism is a belief that the minority community should be able to rule a country in 

              whichever way it wants. 

2) Ethnic is a social division based on shared culture. 

       Which of the statements given above is/are correct? 

a) 1 only                       b) 2 only                         c) Both 1 and 2                            d) Neither 1 nor 2 

 

 


